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   )ن2( : أ��م ا����� ا���

            ← R = U × I                                       R = U /I                                   R = I / U                                               

←            1.5wh =5400 j                         1.5wh =1800 j                              1.5wh = 3600 j  
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� ���ل ���� �#"ل �"ود �����$220V �
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.4 ��5 )(220v-1.2KW 
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� 7.8ا - 3   ���'Eا�9;رة ا P  ا���دي �&��C�<ف ا)'&"ة �#; ا�H ,� �2*&�.ن1.5(ا��(.                  P=1800W+600W+1200W    

 P=3600W              و�#�                                                                     

    4- �
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                                            E=3600W×0.75h                                                     �#و�E=2700×3600                                   

                                                    E=2700Wh                                                 =9720kj  E=9720000j 
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.M�Bا� �C*��� �*��9�� Y*A�� 3آ Z&.� 3[ : )2 ن(        
���3% ا�#�اد       •           •         énergie thermique 

       
�6�� ا�8   •      •            énergie électrique  

�% آ ��3&!%  �Rconstante du compteur   •         •  

�% ��ار$%    �R •       •      tension nominale       
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 -  ���Aا� ^U@� E=N×C    ��;د دورات ��ص ا��;اد و������ و�S ا����� ا��.�&*�2 @

-  ^U@��ف �.-,  @H ,� �2*&�.ا�9;رة  ا����9و��� �R  Sو� �
P=R×I  ا����� و�D;ة ا��
�را���ر �
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�س ا�9;رة ه/ . .���J-ا��اط .���*� �*���A ه/ا��8;ة ا��.  -� �
  ا��اط �
#�� ا��8;ة ا�����


���� ا�"�#
� ا�9;رة ����اط وا��;ة 2�ن�#;�� @ -M�`  �
0����ل@2�ن و8;ة ا����A ا�2&>���  

�ف ا����Uح ����A ا��.�&*�2 � ) 2H ,   L2 
�#J ن1.5(=�ل.  (  

                                       P×t    E2=    

                              =100×365×3  

 KWh           109.5 =  Wh 109500=  

��, ا�Jd&�ك     

                                 109.5×1Dh   

                                   =109.5Dh   

                                         

   

  )ن1(ا����Uح ا���9�ح  ) 3

  L1ا����Uح اdآ`� ا����دا ه� ا����Uح    
�اء  Dا� ,��  dن �<��ع ��, ا�J&�آ� ا�.#�ي  و 

  �/ @�3 ���ر$g ا����Uح    dDh 51.9 $��;ى   

 L2     Dh 114.5     

�ف ا����Uح ) 1H ,� �2*&�.ا�� ���Aا� L1 

  �#J ن1.5(=�ل    (  

                                       P×t   E1=   

                                =20×365×3    

 .          =21.9KWh   Wh 21900=   

��, ا�Jd&�ك     

                                   ×1Dh  21.9  

                                       =21.9Dh 
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